EARAROBREBRT —5 XN—ZXBISH—F

20224F9833H (£) 3EEE7H

I SREE3 L KESF

N=FaN
/b

) EE

\(9&1@1 = ‘[%EH%F&] i

[AE%] 17%&:7,900,000  ~ 237&:3,200,00H / 3&:

2,000,000 / 4 3:1,200,000 . 5 3&:790,000 4

B RS RS R 1 B5F (F28) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
1 )| 77 WY+ —L 44 %{ﬁ)ﬁ&omu&z 3:06.1 3-5-4-3 [ 13.1| - 2 462 ‘E‘ﬁf (FH)
: (=) ZLLBE
RKSSRYF BIUFASUT 14| gy
o Y 4 | EBEH 3:06.5 6-6-4-1 | 13.1| — 7 | 464 | HESIEBR ()
202 TYIFVFR 60.0 @12 w) |SEES_
RIN=YITS4 B:FVIXFTS /=Y I7—1L
o — 7 Ve 4 7 | HEX 3:06.6 6-6-6-5 | 13.1| — 8 476 | HBREB (GR)
35| 8 ?,{ _'j i/\_J_iJX o 60.0 (3/4) -10) E;%*%—“ .
RiRU—=LVv—Z— B:J—IrLI—F BKRI W R
= —g~= s o4 | EREE 3:06.8 3-3-2-2 | 13.1] - 6 | 462 |PTIAIL ()
4 10 \USU _9/:[ R 60.0 (1 1/4) @ |, B #BL—2k-2
R:IAYIVITSvva B IATEZ—H HEI77—LA
S U—AIL<F— [B] v 5 d)’g‘%ﬂgix 3:(0%.0 2-2-2-5 | 13.2| — 1 490 gggé (FH)
N 7 —, =]
R:O—RAFO7 B:IVAVIIF— O RSy
W " " 4 6 | JIHERE 3:08.2 3-3-7-7 |13.2| - 9 168 | REER EH)
6|57\ Py TPy Try s 60.0 (1 172) o) |EEEZ
R:FVTHAXNXN B:XIOIVUT7Y LA D4S5T7—1A
-~ 4 5 | HEEEt 3:08.4 9-8-9-8 |13.2| - 4 | 458 | BABS (EH)
71813 /7\./1‘\’D7f JI\L\ o 60.0 m (+6) 7n“\’|:|+}f575‘w rRoST
R:7ROFVITIL B:NAT4—=)LR AW T8
W= S Y 5 | GER— 3:09.1 13-13-10-10/ 13.3 | — 3 514 | ERRR EH)
Jrevyasy 60.0 @ o | @) FrOybIr—i
RIFVINANAN B:FPF1TT4 R J=HUT7—L
w R i 5 | EEAR 3:10.3 1-1-1-3 | 13.4| — | 14 | 466 |FOEEZ R
A e ok *0 @ 2 |EBEE
R:T—IUNA/O— B:ZY/IRA ERIS
PR o o6 | NEHIFEA 3:11.0 9-8-7-8 [ 13.4| — | 10 | 470 |iEKEE ()
P e G o 60.0 @ G | B ErmemEms
RiIvVIIWRry s B:94DT7XT)b REORS
=~ s P RS 3:11.4 8-10-11-11 | 13.4 | — 5 482 | BNRIC GEH)
RSYZFvaFiL e &% S
: (2172 SHRS
RVPRIDIA B:va—1 O 1 5a57—n
URIZAA VT 3 %23&33 3:(11).7 M-11-12-11|13.5| — | 12 | 444 ﬁﬁié &R
- 2 ) | P
RN—ANR B:95AD)F1—L 9 GE Ea
=~ ATIRE 3:12.7 11-12-13-13/ 13.5 | — 13 | 484 |EKRTE ()
TSVRXID 3 580 '
: 6) EEFIE
RFYYF—THAF B T—T5Y 2 13m =
3 — 4 4 | BEK 3:13.4 13-14-14-14| 13.6 | — " 494 | /NEE (GEER)
/zi?ﬁ;v ja)b_ . 60.0 ) © |PIERT
INT—ka1—X B:IRFY =YV T7—L
[ BN
Eh' 51.0-37.8
NOVIA L
@ I1—JF—BEBIEfI
13—7+— 11=14(2,10,7) (8,12)9(4,13)-(3,1) - (5,6)
20—7F— 11=14(10,7)2-(8,12) - (4,13)9-3,1,6-5
3al=zr= 11(14,10) (2,12)8-(4,7)13=6-9,3,1=5
43—F— (10,%12) (11,2) (14,8)-7(4,13)=6=(3,9)=1=5
o ILRE
B 2 330 AR 2-12 740 AR 2-7 1,920 3EE 2-8-12 19,410
B B 2 1504 2-8 2,680M F5 EE 2-12 1,830 3EE 2-12-8 73,970H
12 4704 8-12 6,760M o= 2-12 2,760
8 1,460H

ABIC OV TRUTEREERRODDZE. THRIIZEL.




